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PART A: Grammar and Vocabulary

Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes each sentence. Then mark the correct choice on your answer
sheet.

61-One of Mr. Specter’s sons ... in the army for twenty years, but then he suddenly quit his job to take care
of his old father.

1) has worked 2) works 3) have worked 4) worked
62-The engineers at General Motors company ... lots of progress in producing self-driving cars for
the last five years.

1) are making 2) have made 3) will make 4) has made
63-Would you please ... at the reception desk and sign your name on the paper?

1) give up 2) turn off 3) check in 4) call back
64-1’m really tired because I ... five quizzes and six exams so far this holiday.

1) had 2) has have 3) will have 4) have had
65- My father has a very busy schedule these days. He’s ... weight since he quit doing daily exercise.

1) taken part 2) put on 3) taken care 4) watched out

66- Eating habits formed in childhood tend to continue into adult life. ..., the best way to prevent
heart disease among adults is to encourage healthy eating from an early age.

1) Also 2) Above all 3) Thus 4) But
67-Not many family members were able to ... the couple’s wedding because it was so far away.
1) produce 2) cure 3) attend 4) follow
68-1 needed more ... in working with children, so I decided to volunteer at a local afterschool
program.
1) pattern 2) experience 3) example 4) reason

69-New studies show that playing with animals has a positive ... on children’s physical and
emotional development.

1) invetion 2) disorder 3) function 4) influence
70- Anderson, who was one of the best players in the team, had to ... because of a serious injury at
the age of 26.
1) replay 2) retire 3) carry 4) research
71- As teachers, one of our most important ... is to help our students understand their own abilities.
1) missions 2) situations 3) events 4) stages
72-Our company needs to create a new ... for itself, especially after we didn’t enjoy much success
last year.
1) health 2) emotion 3) image 4) habit

PART B: Cloze Test

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits each space. Then mark the correct choice
on your answer sheet.

It’s a fact that coronavirus has influenced the lives of us these days. This virus ...(73)... our habits
and lifestyles. We haven’t visited our friends and relatives for a long time. We have quitted good
habits like doing daily exercises or attending ...(74)... events. Unfortunately, some people don’t
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believe this, and they want to have a daily life like before, but it is ...(75)... . Perhaps they haven’t
seen the death of their friends, relatives, and families so far. Lots of doctors and scientists are trying
to make a vaccine for this dangerous disease, but they haven’t been successful yet. It is clear that it
...(76)... a lot of time, and hopefully, Iranian doctors and scientists will make it first.

73-1) have changed 2) change 3) has changed 4) are changing
74-1) social 2) opposite 3) harmful 4) homeless
75-1) incomplete 2) unsafe 3) unimportant 4) asleep

76- 1) makes 2) does 3) has 4) takes

PART C: Reading Comprehension
Directions: Read the following passage and answer the questions by choosing the best choice (1), (2), (3), or (4). Then mark the correct choice

on your answer sheet.
In the U.S., tornadoes are responsible for 80 deaths and more than 1,500 injuries each year.
Although they occur quite frequently, tornadoes are difficult to predict. Why? Tornadoes develop
from storms, but only some storms have the potential to become tornadoes. Meteorologists don’t
know where and when a storm will touch the ground and turn into a tornado. Today, the warning

time for a tornado is usually just 13 minutes.

Tim Samaras is a storm chaser. His job is to find tornadoes and follow them. When he gets close
to a tornado, he puts a special tool called a turtle probe on the ground. This tool measures things like
a twister’s temperature, humidity and wind speed. With this information, Samaras can learn what
causes tornadoes to develop. If meteorologists understand this, they can warn people about twisters
sooner and save lives.

Every May and June, Samaras drives about 40,000 kilometers across an area known as Tornado
Alley, looking and hoping to spot a twister. Once Samaras sees a tornado, the chase begins. But a
tornado is hard to follow. Some tornadoes change direction several times—for example, moving east
and then west and then east again. When Samaras finally gets near a tornado, he puts the turtle
probe on the ground. The work is risky, even for a skilled chaser like Samaras. But danger won’t

stop his hunt for the perfect storm.

77-The passage is primarily focused on ... .
1) how we can prevent tornadoes from happening
2) finding ways to decrease the damage caused by tornadoes
3) a man who follows tornadoes to learn how they form
4) a man who puts his life in danger to prevent tornadoes
78- Which statement is TRUE about tornadoes?
1) Scientists use satellites to predict when they will happen.
2) They usually move in a straight line from place to place.
3) People usually have 24 hours to prepare for them.
4) Meteorologists can’t predict exactly where they will form.
79-The passage provides enough information to answer all of the following questions EXCEPT ... .
1) who developed the turtle probe?
2) what is the turtle probe used for?
3) why is it difficult to follow a tornado?
4) How is it possible to warn people about twisters sooner?
80-The underlined word “spot” in the third paragraph is closest in meaning to ... .
1) prevent 2) find 3) choose 4) wait for
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